
SAP ABAP table TZZKD {IS-IS: Business trans./Role alloc. --> Doc.category}

TZZKD

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

KORRVORF [NUMC (4)]

LFDNR [NUMC (3)]

APPL [CHAR (4)]

ROLE_ORIG [CHAR (4)]

ROLETYP [CHAR (4)]

ROLE [CHAR (4)]

ROLETYPEMP [CHAR (4)]

SUBANWDG [CHAR (4)]

BRFNM [CHAR (15)]

TDDEST [CHAR (4)]

TDTELELAND [CHAR (3)]

BZTYP [CHAR (4)]

ROLETYP_ORIG [CHAR (4)]

ROLETYP_ZGP [CHAR (6)]

ROLETYP_ORIG_ZGP [CHAR (6)]

ROLETYPEMP_ZGP [CHAR (6)]

ROLE_CORR [CHAR (4)]

ROLE_CORR_ORIG [CHAR (4)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 TZZKD-TDTELELAND = T005-LAND1 

0..N

0..N

TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]

 TZZKD-ROLETYP_ORIG_ZGP = TB003-ROLE 

0..N

0..N

 TZZKD-ROLETYP_ZGP = TB003-ROLE 0..N

0..N

TB003A

CLIENT [CLNT (3)]

ROLECATEGORY [CHAR (6)]

 TZZKD-ROLETYPEMP_ZGP = TB003A-ROLECATEGORY 
0..N

0..N
TDPZ6

MANDT [CLNT (3)]

ROLE [CHAR (4)]

 TZZKD-ROLE_CORR = TDPZ6-ROLE 

0..N

0..N

 TZZKD-ROLE_CORR_ORIG = TDPZ6-ROLE 0..N

0..N

TPZ12

MANDT [CLNT (3)]

APPL [CHAR (4)]

 TZZKD-APPL = TPZ12-APPL 
0..N

1 TPZ3

MANDT [CLNT (3)]

ROLETYP [CHAR (4)]

 TZZKD-ROLETYP = TPZ3-ROLETYP 
0..N

1  TZZKD-ROLETYPEMP = TPZ3-ROLETYP 
0..N0..N  TZZKD-ROLETYP_ORIG = TPZ3-ROLETYP 
0..N0..N

TPZ6

MANDT [CLNT (3)]

ROLE [CHAR (4)]

 TZZKD-ROLE = TPZ6-ROLE 

0..N

{0,1}

 TZZKD-ROLE_ORIG = TPZ6-ROLE 
0..N

1

TPZ7

MANDT [CLNT (3)]

REL_TYP [CHAR (4)]

 TZZKD-BZTYP = TPZ7-REL_TYP 

0..N

0..N

TSP03

PADEST [CHAR (4)]

 TZZKD-TDDEST = TSP03-PADEST 

0..N

0..N

TTXBF

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SUBANWDG [CHAR (4)]

BRFNM [CHAR (15)]

 TZZKD-BRFNM = TTXBF-BRFNM 

0..N

{0,1}

TTXSA

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SUBANWDG [CHAR (4)]

 TZZKD-SUBANWDG = TTXSA-SUBANWDG 

0..N

{0,1}

TZKV

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

KORRVORF [NUMC (4)]

 TZZKD-KORRVORF = TZKV-KORRVORF 

0..N

0..N


